Calculus BC – Chapter 7 - Even Answers (F.T.D.W.)
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Section 7.6

2. (a) 
[image: image1.wmf]¥

, slower
(b) 0, slower
(c) 
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, slower
(d) 0, slower

(e) ½ , same rate

(f) 
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, faster

(g) 0, slower

(h) 1/e , same rate

4. (a) 
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, same rate

(b) 
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ln2

 , same rate

(c) 
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2ln10

, same rate

(d) 0, slower

(e) 0, slower

(f) 0, slower

(g) 
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, faster

(h) 5, same rate

(i) 0, slower

(j) 0, slower

6. 
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8. 1, same rate

10. 1, same rate

12. (a) True
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(b) True

(c) False

(d) True

(e) True

(f) True

(g) True

(h) False

14. Math Induction?
Did you learn this 

in precalculus? Don’t 

think we have the time

to do a mini-unit on 

this topic!

16. 0, slower

18. 1

20. 1

22. 1 
24. 1, therefore g is an end behavior model for f.


26. 1, Therefore g is a right end behavior model for f.


28. 1, g is a right end behavior model for f.


30. 1, g is a right end behavior model for f.


32. Show the limit of the ratio of functions as x goes to say � EMBED Equation.DSMT4  ��� is 1.


34. follows immediately


36. See your study of rational functions


38. It might take 106 steps in a sequential search. In a binary search, it would take as much as log2106 or 20 steps.


40. See p. 418 for which give a bound on the error size for both the Trapezoid Rule and Simpson’s Rule.





Section 7.7


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���


56. Let A = Sin-1x


and B = Cos-1x. � EMBED Equation.DSMT4  ���(positive arcs)


� EMBED Equation.DSMT4  ��� and 


For � EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ��� 


sin(A+B) = 


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


So if sin(A+B) = 1 


and � EMBED Equation.DSMT4  ���, 


then A+B = � EMBED Equation.DSMT4  ���


58. Show “odd”


60. D = R = [-1,1]


62. Stretch


64. Shift


66. right & down
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